FgArea: [0 ]
NC11 G3-3
2025-05-31 (Day 19)




1200
1000
800 -
600 -
400 -
200 -

15.0

-o— VI
—0— VO

1000
800 -
600 -
400 -
200 -

Vi
VO

1000
800 -
600 -
400 -
200 -

1000
800 -
600 -
400 -
200 -

12.5 15.0 17.5

10.0

7.5

5.0

2.5

17.5

12.5

10.0

7.5

5.0

2.5

T T T T T
o o o o o o
o o o o o
o © © < N
—

—e— 3 WN
—°
T

7.5 10.0 12.5 15.0 17.5

5.0

2.5

15.0 17.5

12.5

T T T T
o o o o o
o o o o
<] © < N
= -
=>
N
T T T T
o o o o o
o o o o
© © < N
=
>
—
+ I 4

1000 -
800 -
600 -
400 -
200 -

1600

17.5
17.5

1400

15.0
15.0

1200

12.5
12.5

1000
DU

10.0
10.0

800

7.5
7.5

600

5.0
5.0
4 V]| vs Du

2.5
2.5
[

400

18

16

14

12

10

1000
800 -
600 -
400 -
200 -

—0— 4 setVl

18

16

14
NA)

12
d
4 (fgArea

10

18
1600

16
1400

12 14
1200

1000
DU

3 FR

10

800

600

3 VIl vs Du

400

—o—

90 -
80 -
70 -
60 -
50 -
40 -

ECO
=@ ECI*10%

——

14 16 18
3 setVI

12

10

200 { 0@ 4@

0.7 A
0.6 A
0.5
0.4 A
0.0

1000 -
800
600 -
400 -

——
{

3500
3000
2500
2000

d
= NA)

3 (fgArea

10.0 12.5 15.0 17.5
10.0 12.5 15.0 17.5
800 1000 1200 1400 1600
DU

7.5
7.5

5.0
5.0
2 VIl vs Du
o ©
O
600

400

2.5
[

2.5

—&— 2 0IR

T T T T T T T
o {9} o [Ie] o [Ie] o [fe]
e} ~ ~ © © (9] Tp) <
o o o o o o o o

- 2FR
®

90 -
80 -
70 -
60 -
50 -
40 -

18

16

14

12

10

E
0.8
0.6
0.4
0.2
1000 -
800
600 -
400
200 o‘.

1

0.75 -
0. 70 -
0. 65 -
0. 60 -
0.55 -
0.50 -
0. 45 -

16 18

14
NA)

10 12
d
2 (fghArea

18
1600

16
1400

12 14
1200

1000
DU

10
1 VI vs Du
e o
400 600 800
—&— 1 FR

>

Fe

(V]

(]

N

+ @
T T T T T T T
o o o o o o o
» [o0] ~ © o < ™

=X
o
—
*
o —
o O
o
T T T T T T T
o o o o o o o
o o o o o o o
7o} o Te] o o o o
™ ™» N N — —
[ ]
==
o
—
*
o —
[ ]
ol

14 16 18
—0— 1 setVl

12

10

o
200 1 @@ o

1000
800 -
600 -
400 -

0. 80
0.75 A
0. 70
0. 65
0. 60
0.55 A
0. 50
0.45

3500
3000 -
2500 -
2000 -

16 18

14
NA)

10 12
d
1 (fgArea

90 -
80 -
70 -
60 -
50 -
40 -

%

ECO

——
=@ ECI*10

4000 -
3500 -
3000 -
2500 -
2000

12.5 15.0 17.5

10.0

5.0 7.5

2.5

12.5 15.0 17.5

10.0

7.5

5.0

2.5

12.5 15.0 17.5

10.0

5.0 7.5

2.5

12.5 15.0 17.5

10.0

5.0 7.5

2.5







Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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633 FE | ERAKG) | Be EA/4 | Bhes (B/R) [RS TR

06:45 123 80.0 17.28 BA| ThHAe06:45 REERF CRAEESE)
07:15 123 80.0 17.28 BR| FiHR@07:15 KRHMIEHF CRALESR)
07:55 123 80.0 17.28 BA| FnHA@07:55 KRENFEF (RAERHESE)
08:25 123 80.0 17.28 BA| FhHAe08:25 REERF CRAEESR)
08:55 123 80.0 17.28 BA| FhHA@08:55 KRHMIEHF (CRAMLESR)
09:25 123 80.0 17.28 BH| FnHA@09:25 K4ANF2F (KRHAfEREE)
09:55 123 80.0 17.28 BA| ThHAe09:55 REFERF CRATEREE

10:25 123 80.0 17.28 FA| #HB@10:25 REIEF (KBERE)
10:55 123 80.0 17.28 BH| FhHA@10:55 KENF2F (RAEREE)
11:25 123 80.0 17.28 FA| FhHAe11:25 KEFEF (RAEES)
11:55 123 80.0 17.28 BA| THAe11:55 REERF CRAGRS)
12:25 123 80.0 17.28 FH| FhHRe@12:25 KE1F2F (RAEREE)
12:55 123 80.0 17.28 FH| FmHA@12:55 KEIEF (GRAERSE)
13:25 123 80.0 17.28 FI| FiHfe13:25 REERF CRAERS)
13:55 123 80.0 17.28 M| FHAe13:55 KEFEF CGRAFEBE)
14:25 123 80.0 17.28 M| FRHAe14:25 KEEF CGRAERSE)
14:55 123 80.0 17.28 M| FuHAe14:55 KEFZEF (RAEES)
15:25 123 80.0 17.28 M| FhHRe15:25 KEIFRF (RAERSE)
15:55 123 80.0 17.28 M| FuHAe15:55 KEFEF CGRAEESE)
16:25 123 80.0 17.28 M| FiHAe16:25 KEIZEF (RRAEESE)
16:55 123 80.0 17.28 m| FiHR@e16:55 KRHAMIEHF CRALESR)
17:25 123 80.0 17.28 BH| FhHRe@17:25 KE1F2F (RAEREE)
Bit| 2706.0 (22:%) 1760.0 3 UHKEC: 1800.0, PH: 6.5

FERGERIPH (10.37) 5i&EPH (6.5) REK K, AT
FEREPH (10.37) 5FPH (6.5) REKK, FHE
#[EKECE (2017.0 vs 3390.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

G3-3_0, Day=19 (2025-05-31)
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G3-3

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

07:40 92 80.0 17.28 FA| 1BRi%@07:40 B3h (KRAEREEE)
08:15 92 80.0 17.28 FH| 1RRi%e08:15 Bzl (KRS
08:55 92 80.0 17.28 FH| 1RRi&@08:55 B (FRFA{EESE)
09:50 92 80.0 17.28 FA| 1BRi%@09:50 B3h (FKA{EREE)
10:30 92 80.0 17.28 FE| 1Ri%@10:30 Bz (REAERSE)
11:05 92 80.0 17.28 PR 1Ri&@11:05 B (RS
11:35 92 80.0 17.28 FA| 1BRi%@11:35 B3h (RAERSE)
12:05 92 80.0 17.28 FH| {Ri&@12:05 Bz (RAEESE)
12:35 92 80.0 17.28 FE| 1Ri&@12:35 Bz (RAERSE)
13:05 92 80.0 17.28 FA| {Ri%@13:05 Bz (GkAEEE)
13:35 92 80.0 17.28 FR| 1B2i%@13:35 B3h (kAEREE)
14:10 92 80.0 17.28 Al 1BRige14:10 Bzh (GGRAEREE)
14:55 92 80.0 17.28 FA| {Ri%@14:55 Bz (CGRAERESE)
15:45 92 80.0 17.28 FA| 1BRi%@15:45 B3h (RAHERESE)
16:40 92 80.0 17.28 FE| 1Ri%@16:40 Bz (REAERESE)
21t+] 1380.0 (15)%) 1200. 0 3203 KEC: 1800.0, PH: 6.5

EORER AR EE TRy (0.56 vs 0.63), AIEEH L REEN EEEESKERRE
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G3-3_0, Day=18 (2025-05-30)
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G3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#K) | EREE (B/R) | X8 R

08:10 62 80.0 17.28 BE| {RRiZe08:10 BHzh (RAMEEE)
08:45 62 80.0 17.28 = {RRiB008:45 Bz (RFAKEE)
09:25 62 80.0 17.28 | =| 1Ri%@09:25 Bz (KRABHEREE)
10:00 62 80.0 17.28 (% =| 1BRi&@10:00 Bzh (REERESE)
10:35 62 80.0 17.28 | =| 1Ri%@10:35 Bz (kAEREE)
11:10 62 80.0 17.28 | =| Rige11:10 Bzh CGRBHERESE)
11:50 62 80.0 17.28 | =| 1Ri%e11:50 Bzh (RAHERESE)
12:30 62 80.0 17.28 |2 =| {Ri%e12:30 Bz (REAEESE)
13:10 62 80.0 17.28 E BRige13:10 Bz CGRAERESE)
13:45 62 80.0 17.28 5| {Ri%e13:45 B3 (RAERSE)
14:20 62 80.0 17.28 = RRiB014:20 B (RFAEESE)
14:55 62 80.0 17.28 E BRige14:55 Bz (GRAERESE)
15:30 62 80.0 17.28 El 1BRi&e15:30 Bz CGRAEREE)
16:15 62 80.0 17.28 |2 =| 1BRi%e16:15 Bz (kAEREE)
17:15 62 80.0 17.28 FA| 1Big@17:15 Bzh (RAEREE)
21t+]930.0 (15%%) 1200. 0 3203 KEC: 1800.0, PH: 6.5

EORER AR EE TRy (0.57 vs 0.63), AJEEH L REEN EEEESKERRE
EORGEB R R L FE RN (92 vs 123.0))

ZRIASERRIERE60. 0 ml.

FERZERPH (10.24) 5i&5EPH (6.5) REK K, BHAT

BEXRERIPH (10.24) 5FMPH (6.5) REK K, HRE

BE X i# B R ECEL B Hh k.

HEEIRECE (2113.0 vs 3595.0) 15

RER BT HEREC/PHIE B K, AT RERNIHRELR SR

LYERPH (10.4) 5i&EE (6.5) REKK, FRE.

LORGEBIPH (10.4) S5#AEN (6.5) RERK, BRE.



G3-3_0, Day=17 (2025-05-29)
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G3-3

BYiE) | GEBATE (7)) | ERE (EH/f) | ERERE (/R | XS ERE

07:45 63 80.0 17.28 E 1BRi&e07:45 Bzl (GRAERE)
08:25 63 80.0 17.28 5| 1Rike08:25 Bz (KRFEES)
09:15 63 80.0 17.28 =l RRi1B009:15 B (RFAKEE)
10:00 63 80.0 17.28 S {Ri%@10:00 B3 (RAERSE)
10:40 63 80.0 17.28 = RRi8010:40 Bz (RAEESE)
11:20 63 80.0 17.28 =l {Rige11:20 B3 (RAERSE)
12:05 63 80.0 17.28 S {Rige12:05 B3 (REAERSE)
13:00 63 80.0 17. 28 E| {Rig@13:00 B3h (RE{ERSE)
13:45 63 80.0 17.28 F BRige13:45 Bz CGRAERSE)
14:30 63 80.0 17.28 S| {Rig014:30 B3 (RAERSE)
15:20 63 80.0 17. 28 F BRige15:20 Bz (GRAERESE)
16:10 63 80.0 17.28 F BRige16:10 Bz (GRAEREE)
2it]756.0 (12)%) 960.0 ZHKEC: 1809.9, PH: 6.5

FRGEBRT R IRIR B I (63 vs 123.0))
EXIASEPRIERE41.0 ml.

REXFEBPH (10.32) H5i&%EPH (6.5) RERK, HFHRE
REXEEBPH (10.32) 5FMPH (6.5) REKKA, BFHRE
RE R i# ELRECEIE HRK.

HEEKRECE (2052. 0 vs 3410.0) i35

RER B HEREC/PHIELERR, W RERZNIAEELR TR
EXGEBIPH (10.2) 5i&EE (6.5 REKK, BRE.
EREBPH (10.2) S5REGZWY (6.5 RERK, FHRE.
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G3-3

BYiE) | GEBATE (7)) | ERE (EH/f) | ERERE (/R | XS R

07:35 63 80.0 17.28 | =| 1BRige07:35 Bzh (REERESE)
08:20 63 80.0 17.28 =l {Ri%@08:20 B (RFAERSE)
09:15 63 80.0 17.28 | =| 1Ri%e09:15 Bz (kAEREE)
10:00 63 80.0 17.28 | =| 1Ri%@10:00 Bz (kAEREEE)
10:45 63 80.0 17.28 (2 =| 1BRiB@10:45 Bzh (REERESE)
11:25 63 80.0 17.28 (2 =| 1BRige11:25 Bzh (REERESE)
12:05 63 80.0 17.28 | =| 1Ri%e12:05 Bz (GRAEREEE)
13:00 63 80.0 17.28 BH| 1Bi&e13:00 Bzh (RAERSE)
13:45 63 80.0 17.28 FH| f{Ri%e13:45 B (RAEESE)
14:35 63 80.0 17.28 PH| 1Ri&e14:35 Bz (RAERES)
15:20 63 80.0 17.28 (2 =| {Ri%@15:20 Bz (REAFEBSR)
16:05 63 80.0 17.28 |Z=| 1BRi&e16:05 Bzh (REERESE)
2it]756.0 (12)%) 960.0 3ZHKEC: 1890.0, PH: 6.5

EORGEBRTC R IZAREZ Y (63 vs 127.0))
EXIASEPRIERE40. 0 ml.

REXFEBPH (10.33) 5i&%EPH (6.5) RERK, BFHRE
REXEEBPH (10.33) 5FMIPH (6.5) REKKA, BFHRE
RE R i# ELRECEIE HRK.

HEEIRECE (2062. 0 vs 3225.0) RS

RER B HEREC/PHIELERR, W RERZNIAEELR TR
EXGEBIPH (10.3) 5% EE (6.5) REKK, BRE.
EREBPH (10.3) S5REZW (6.5 RERK, FHRE.



G3-3_0, Day=15 (2025-05-27)
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